MTH 265, Quiz #18, Fall
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1. Evaluate |, Fo

Siz=5—x*—-y?z > 1, oriented upward, using Stokes’ T
Gz z2-Stxy? Ve = L2%,89,1>
- Tk
KF = | g oy e
T N g4
(V¥P) Vo= 2y(by-3)caz = 4y*by +a(S
Gyrrby tio—22—2y* = 2y*
uT 2 ) L.
[ [ [2rsare L ersio s i0-2rae]
o Yo L

2018

Name

el

1

ork. Use exact answers unless otherwise as

17 for F(x,y,2) = —2yzi + yJ + 3xk for th

j:r‘fo%a’lrsng

)7 800026~ 15t

2. Evaluate the flux
bounded by the p
= )
VF = Syl
2

0

24t

L LL (5r2’d009f

& JP
J3 4"‘56@@ +9Y‘

a- Lz J; lﬁ-r‘érc‘ |

]
1

|
i

d to round.

boundary of the surface
orem. .
. -
- S5—- ‘}"2'-'\{
G=pxFety* = r=7

(00— (oo~ tor 2t

z-,Y'L) =
by t10 w2x™

- 3kt T

o) ededide = [T [N 73 ‘e« v Azl
)z }: ;{rcf(@ = j:m[; (Ffeace I ~ 31 fogo@ -1 2l
~2r%00 Y[ d9 = [| Yewow +4 4G -




